POST HEADER
BRACKET ATTACHED
W/C4) 5/16° DIA, x

1-5/8" LAG BOLTS 13 GA, GALV. COMMERCIAL ADJUSTABLE ROLLER CARRIER
172 MIN. TOP ROLLER BRACKET ATTACHED W/ (@) 1/4° x 1/2°
‘_EDGE DISTANCE ATTACHED W/(3) 1/4" x BOLT & NUT PER BRACKET
3* x 1-1/2* x 11GA. 3/4* HEX HEAD SCREWS
e ® VERTICAL POST PER BRACKET
t LENGTH = DOOR HT, + S5-1/2°

C(INSTALLED ONLY DURING
A HIGH WIND EVENT

3* 20GA, STRUT
ATTACHED W/ (3) 1/4° x 3/4

2’ 7 BALL STEEL
2) ADDITIONAL FASTENERS, (1) EACH SIDE OF POST DR NYLON ROLLER

(SEE WOOD JAMB & HEADER ATTACHMENT T HEX HEAD SCREWS AT
STRUCTURE FOR FASTENER INFORMATION AND EACH END STILE
wooD HEADER TYPICAL HEADER BRACKET 6 ADDITIONAL SPACING) TYPICAL TOP FIXTURES :
(SOUTHERN YELLOW N.TS. 1 s
PINE NO. 2 OR BETTER) N.T.S. (¢SPLICE) SPLICE TRACKS AT THIS LOCATION
' 200 STILE APPLIED WITH b0 W/(4) 1/4"-20 TRACK SPLICE
20GA STILE APPLIED WITH DOUBLE-
/—BACKED ADESIVE TAPE BOLTS(&)C N}JTS SECURE TO ;AMB
: . WITH (3) 5/16” DIA. x 1-5/8"
BOTTOM BRACKET 82
3’;?22;_“:3;?3; 5; 5342 1'I'/HICI§< A3T/T4ACHED 639 , LAG BOLTS. y
f /(3 1747 ! (1) 5/16”" DIA. x 1-5/8"
@ 1/4° X 3/4
HEX HEAD SCREWS HEX HEAD SCREWS LAG BOLT ATTACHED TO JAMB
AT END AND CENTER AT EA. JAMB BRACKET
STILES
— 427
2’ 7 BALL STEEL
OR NYLON ROLLER
TYPICAL BOTTOM BRACKET, 4 ’
N.T.S. 347 12 GA. GALV. STEEL
@1" JAMB BRACKETS
ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
I OR (2) RIVETS
10
13 GA COMMERCIAL <107 A
TOP FIXTURE ATTACHED W/
(3 1/4° x 3/4° HEX HEAD 1-3/8" f
SCREWS ADJUSTABLE SLIDE N\ —] , )
$Z BRACKET ATTACHED TRACK CONFIGURATION FOR (7') AND 8 TALL DOORS
%8 W/@ 1/4° x 1/2° BOLT
::E AND NUTS N.T.S.
Py
7 37 x 20 GA. STRUTS
(2 PER SECTION,
FRONT, A <LOCATED AT THE REV | DESCRPTION OF REVSIONS DAE | BY
N POST LOCATED IN THE CENTER OF DOOR———— INTERIOR OF GARAGE - A | NOTE # SON AU CORRECTED 272108 S
! - —_ o e CFC-FREE EXPANDED
INSIDE_ELEVATION UAX. WDTH 18 POLYSTYRENE INSULATION B | REVSED NOTE 6 9/2/08 | BHG
ANSIDE ELEVATION : R=5.73, U=0.17
N.T.S. C  |UPDATED WJATS, ASCE MPH DETAIL, ADDED TABLE 2| 12/1/11 | RIR
3* 20GA. STRUT aMB DESIGN LoaDS [[ [ | [ [ [ | [ | || HEADER DESIGN LOADS END, HINGE
\4GA. CENTER inge ATTACHED W/ > 14 Ga END HINGE HEESLES/T o poms Ta 2 YHRIS D |CORRECTED ADHESIVE BACKED STILE SIZE CALL OUT | 8/20/19 | DL
ATTACHED 174" x 3/4" HEX = ; W/ (@) 1/4° x 3/4° ’
W/ (4 1/4° x 3/4° HEAD SCREWS HEX HEAD SCREWS
3° 20GA. STRUTS A'TTACHEI'] HEX HEAD SCREWS MAX SIZE ~..\'\\\\'\\’\
HEX. HERD SCREVIS. AT 14GA. ROLLER CARRIERS ATTACHED 18 x & = }:\E OF e )
EACH CENTER STILE TO END STILE W/ @ 1/4° x 3/4* ;‘.o‘\'." '.'0.4& }
3 20GA, STRUT HEX HEAD SCREWS PER CARRIER Bacic s DESIGN LOADS Z To 'y
ATTACHED W/ (@ @ /16" x 3/4° +37.0 PSF 7\
174° x 3/4* HEX 2* 7 BALL STEEL - o
HEAD SCREWS DR NYLON ROLLER UNIVERSAL SCREWS BOTION BRACKET 40.6 PSF 7%

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063}

5921-G W. Friendly Ave., Greel l{st}oro, NC 27410

TYPICAL CENTER HINGE e ¥ ot STRUT €LIP ad CABLES w/ (3) 1/4 x 3/4" TEST LOADS /
N.TS. TYPICAL END HINGE @ STRUT : HEX HEAD SCREWS ‘ (1.5 x DESIGN LOADS, % o i 7
N.TS. TYPICAL STRUT CLIP PLACEMENT (‘o +55.5 PSF Y OQ: LICENSED. \\\2.:'
N.T.S. CONTINUOUS ALUMINUM EXTRUSION -61.0 PSF ‘\ SIONA\-E‘\-"’
&)Gséés; DIA. x Jé'-)s%” e 2 X 6 SOUTHERN YELLOW PINE WITH CONTINUDUS VINYL ASTRAGAL M
AT EAC A BRAGKET correr pin (N 2 OR BETTER) SECTION A—A (SIDE_VIEW) X
CLEVIS PIN, . NT.S.
VB DIA. CABLE THE METHOD OF TESTING WAS IN SUBSTANTIAL
L CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM SPECFICATIONS AND NOTES arit
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE THE HEADER  RECEIVES MAXIMUM DESIGN LOADS OF:
:l::. \ / / = / / A DRAWINGS WERE CALCU;@;&S (USSIEI?E _;_A%(;__E D7O_0€l’?8<N ?Dz{l-cl)slNWITH 11352 (85 & 14616 1BS AT THE TP OF THE G:os'r. . 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
: THE FOLLOWING PARAM 2, EACH VERTICAL JAMBS RECEIVES MAXIMUM DESI LOADS OF: MODEL #1500 STRATFORD 3000
20 GA. GALV. STEEL 1 ) +166.5 LBS/FT & -182.7 LBS/FT
END STILE | THE END ZONE, ROOF AT ANY SLOPE): iNg(l’gg?AlfLNE% ngﬁio%saig@%mﬁg?gfb MODEL #1200 HERITAGE 3000
2¢ x 2 x 1-1/2"-125 THICK WIND SPEED (MPH) 155 140 133 127 122 . 4. DOOR SECTIONS SHALL BE 27 GA. MIN. (.0151") INTERIER AND EXTERIER MODEL #1550 OAK SUMMIT 3000
1/4-20 x 5/8°TRACK  \ERTICAL POST ANGLE ATTACHED TO POST EXPOSURE LEVEL B C C D D SKIN ROLLED FORMED LIGHT COMMERCIAL QUALITY SHORT, LONG, FLUSH & OAK SUMMIT PANELS
SPLICE BOLT AND NUT VITH <2 1/4-20 BOLTS ; ; : - ; 5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
OR (2 RIVETS MEAN ROOF HEIGHT 30 15 25 15 25 BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS SzE|ORAWN BY  BHG [DATE 11/08/06 DRAWING NUMBER
g 2" GALV. STEEL TRACK INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
BASE PLATE (OPTIONAL) 1/2* DIA EYE BOLT 2 GALV. ) 1518-155
ACK THICKNESS .051 B [ceckm oy o |oATE 11/08/06 [RC-1518-155-45
TRACK MOUNTING DETAIL
N.T.S. SHEET 1 OF 3




(@) 3/8-16 HEX NUTS
AND FLAT WASHER

3/16* THICK STEEL
HEADER POST BRACKET

HEADER POST BRACKET
y ATTACHED W/(4> 5/16* .
x 1-5/8° LAG BOLTS

(KEEP IN BRACKET
WHEN POST IS NOT
INSTALLED>

:[} ; CLEVIS PIN
B

178" x 13-1/2*

2’ x 2 ANGLE ATTACHED W/
(2> 1/4'-20 BOLTS & NUTS

TR,

St LRI N

SECTIO

N A—A (FOR 8 TALL DOOR)

N.T.S.

37 x 1-1/72' x UGA.
VERTICAL POST

LENGTH = DOOR HT. + 5-1/27
C(INSTALLED ONLY DURING A
HIGH WIND EVENT)

3/8°-16 x 10”
CARRIAGE BOLT

TILE BRACKET ATTACHED
EAD SCREWS

s
>/w<a> 1/4° x 3/4" HEX
\\ H

/2° EYE BOLT., 1-3/4° MIN,
EMBEDMENT INTO CONCRETE
(DRILL 1/2°¢ x 2 DEEP HOLE
IN CONCRETE, IF BASE PLATE
USED DRILL S/8°¢ HOLE>

2) 174" x 1 TAPCONS.

—DOOR HEIGHT

iy

VERTICAL LIFT

P

AT T T Tt

Ty

HIGH LIFT

AVAILABLE TRACK CONFIGURATIONS

WOOD JAMB & HEADER ATTACHMENT TO STRUCTURE

*SEE NOTE 1*

2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO WOOD FRAME STRUCTURE
5/16* X 3* LAG SCREWS STARTING 6 FROM ENDS THEN 24° O.C. <1 1/2° EMBEDMENT)

2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8° X 4° STARTING 6° FROM ENDS THEN 24° OC. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4’ STARTING 6° FROM ENDS THEN 24" 0OC. <1 1/4° EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4° STARTING 6° FROM ENDS THEN 24° OC. (2 1/2° EMBEDMENT>
2 X 6 VERTICAL JAMB & HEADER ATTACHMENT T0 HOLLOW C-90 BLOCK *SEE NOTE 2*

SIMPSON 1/4 X 3* TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS

(3’ APART) AT 16” OC. (1 1/2° EMBEDMENT)

HILTI 1/4* X 2-3/4" KWIK-CON II+ SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF

FASTENERS (3 APART> AT 16 OC. (1 1/4" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8* X 2-3/4° STARTING 6" FROM ENDS THEN 24‘ 0OC.
(1 1/74° EMBEDMENT)

*NOTES*
1. REFER TO DETAIL (6) FOR ADDITIONAL FASTENERS AT HEADER
2. OPTION NOT AVAILABLE FOR HEADER ATTACHMENT
3. LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE
4. PREPARATION OF WOOD JAMBS BY OTHERS

1 kY
CONCRETE HOLLOW BLOCK
STRUCTURE STRUCTURE g?ggg?gRgLDCK

~<I \ _‘<I \ \ :\i 1

- 1T J J J

S—

/2% MIN 2-3/4" MIN 1-172* ‘M_IN 4
2X6 JAMB
TYP.

woabD
STRUCTURE

EMBEDMENT

3" MIN

STANDARD LIFT

REV | DESCRIPTION OF REISIONS ) DATE | BY

NOTE 4 SKIN GAUGE CORRECTED 2/21/08] SKW

REVSED NOTE 6 9/2/08 | BHG

UPDATED WJATS, ASCE NPH DETAL, ADDED TABLE 2| 12/1/11 | RIR

SO || >

CORRECTED ADHESIVE BACKED STILE SIZE CALL OUT| 8/20/19 | DL

MAX SIZE
18' x 8
DESIGN LOADS

+37.0 PSF
-40.6 PSF

TEST LOADS
(1.5 x DESIGN LOADS
+55.5 PSF
—61.0 PSF

ASCUN S g

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

X

5921-G W. Friendly Ave., Green"-v boro, NC 27410

LOW HEADROOM

arr

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1500 STRATFORD 3000
MODEL #1200 HERITAGE 3000
A A MODEL #1550 OAK SUMMIT 3000

SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE (DRAWN BY  BHG [DATE 11/08/06 DRAWNG NUMBER

N.T.S.

B [cHEcke BY DL [DATE 110806 IRC-1518-155-45

SHEET 2 OF 3




TABLE 1 TABLE 2

Stile Locations Section
Section (Measured From Left Edge) . -
Panel Positive | Negitive
Width  Width Height(s) Type . . , Width PSF PSF
. g (s} Typ ind (in) 2nd (in) 3rd (in) & ( ) ( )
(ft) | (in) (in) (ft)
16'-2" | 194 18821 Short | 50.272 | 97.000 | 143.728 162 209 229
16'4 40.5 44.5
16'-4" | 196 18821 Short | 51.272 | 98.000 | 144.728 166 40.1 44
16'8 39.7 43.6
16'10 39.3 | 431
198 18821 Short | 52.272 | 99.000 | 145.728 17'0 38.9 42.7
17'2 38.6 42.3
17'4 38.2 41.9
17'6 37.8 41.5
17'8 37.5 41.1
e 10" 17'10 37.1 40.7
18'0 37 40.6
17'-0" 204 18&21 Short 53.340 | 102.000 | 150.660 ‘ REV | DESCRIPTION OF RESIONS DAE | BY
' A NOTE 4 SKIN GAUGE CORRECTED 2/21/08| SKW
- B | REVSED NOTE 6 9/2/08 | BHG
172" | 206 | 18821 | Short | 53.000 | 103.000 | 153.000 e e 200 ST o7 Lo ;2/2)//1119 "
DL
% gg __.,-\’\\\\\\ 5
104.000 waos |8 SEOfIeph,  f
T DtS[GN LOADS EE ; %'..'. -.;gfs. "' g
+37.0 PSF | SE 2 XS Wk
-40.6 PSF ‘;~§ eovebs e e NegeeessamertiTiol &
17'-6" 210 18821 Short ST LOADS §‘§ ....................... g
(1.5 x DESIGN LorDs) £2 . J 3
+55.5 PSF |53 W ‘../S.EN'ﬁ%?-"; - &
-61.0 PSF | 3E WOsronAL BN 3
17'-8" | 212 18821 | Short | 54.800 | 106.000 | 157.200 L ™ M 2

17'-10" 214 18&21 Short 55.800 | 107.000 | 158.200 74@"/7

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARRCOM
MODEL #1500 STRATFORD 3000
MODEL #1200 HERITAGE 3000

MODEL #1550 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SIZE[ORAWN BY  BHG |DATE 11/08/06 DRAHING NUNBER
B |oiecxm BY D) |DATE  11/08/06 [RC-1518-155-45
SHEET 3 OF 3

108.000 | 158.750




